ik NI - BARKIEL-003

/3

(114, 36) DRI E TARTEZTLRE T L.

=
(96,56,52) DERALKIMEBTITLET L,
=
(72,42,12) DI E I ARTERTLIET L,
=

aAX2 b




[E& NI - BARKIEL-003

/3

(114, 36) DRI E TARTEZTLRE T L.

& 1,2,3,6
(96,56,52) DEALKIMETEA TS
% 4
(72,42,12) DRI E TRTEZTLLEE W,
=3 1,2,3,6




e #£8-003

/3

2% FN->THEDOEGEVWEBEEITATEZATLETEI L,

=

2R o THED DHABWVWEBHE TNTEATLILE L,

=

VZEF>THEDDOHABEVWEHZ IANTEATILS L,

op

aAX2 b




CIE=3 #145-003

/3

2% FN->THEDOEGEVWEBEEITATEZATLETEI L,

= 1,3,9,27

2R o THED DHABWVWEBHE TNTEATLILE L,

= 1,2,4,13,26,52

VZEF>THEDDOHABEVWEHZ IANTEATILS L,

op

1,2,4,5,8,10,20,40




